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_For each quadl atic below, tell how the parent function f(x) = x* has been transformed.

| S e
(\(/3({\ -\- UP’)) d ‘\{b‘f‘_!‘\tij,_u\,,\ ( ¥ ( ’L_,[‘

1 y=2$’£—1}’2 +3; VY o J @

e r— — e

| 2. ¥ "-"'@ X(:.ﬁ]#@- é,\r Ut C1 ! { \( 15 1 o }\:’6(#\6. ol Sxvetc i\ (e 1e T pue X

| | - . vd o . | | ’ w e 1_ L N |
3. y{—@__—}{xhz} EE! Ce A\ o }\fﬂ,\"‘“ L;r;xf(,((j LOW {\ (€3N | | A J) 'u'“[,}({x

y=@3{+1)28 \ t\('J(\.(_’,.L}L__\ ‘."S'W{*'C,\/\] L ¢ ) .\‘ k__) C}‘:{ﬁ;_}‘.w ':}

[ = g ) s & i L ' J "
. y=AxETAREFA e lech ovev X Vevheadstretdny rrantiy o~ L

s i ﬂ L/ ;.'ﬁ : \ =» t : o i o ORI N P F--ﬂi
6. ¥ ——%/ﬂz-l- ) SR A ST E X ) \(E,{SMCCLUK/} CL’VV\.Q\’&,{bﬁ y U :_, |

Write the equation that would produce the following verbal descriptions of a transfor
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7 Stretched vertlcally by a factm translated 7 unit right and 2 units up.
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3. ompressed vertlcally by a factor of 1 Wreﬂected over the x axis and moved 2 umts left
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Describe how each graph is a transformation of y = x2. CE;D\,’U .A_t_u VA *C%— Q«COLLO& | Oﬂ\

10. 11,
/
LT 7

Hll’ B\ZaEEEEE
Il H | [ X T T TTE™
(v \d\

(v d’“cp\

e B GxeE
L‘w O | I el o
lll-=== A B
BT
AT e T En e ow&?
a2 LAl p&d eNeX X woved ek 2— ' \‘EY*K{"‘
WAOMECA ¢ \%V\‘\' \ Wy \J oA ey 1 Aouon U
f U':) q LP ¢

F O | WJ'““ Ley== 2.0ty + Y -C(x\:"\i(Xt 2)2"'"{




Match the graph to the equation. Not all equations will be used;”

A f(x)=(x-2)2-3
| | _,%f(x) = —|x + 3]
| ‘ /mf(x)=—%(x—1)2+2

D) f(x) = 2|x| -3

E)f(x)=-;-(x+1)2+2

F) f(x) = %Ix\—-3

| SIT() =3(x+2)? -3

H) f(x) = —|x = 3|

) f(x) =—-(x-1)*+1

) f(x) = —%lx-—1|+2

JF@ =-x+D2+1 (D)
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3(x+2)*-3
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